THIESA S

SLEATERAKE (REALE)

KEAHBERBEE (E/)

FRoKEFRE 9:00

KERBEHER (BREREKSE BKkHF (RK )
B Xig SR |KE|A E| pH |TILAY| BE | ®F |EEY| & 8% i &
i 3 BB A1 Y
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 & 19.5| 16.0 5.2| 1.67
2 = 16.2| 16.2 6.6| 7.71
3 & 19.0] 15.4 20.6| 7.65
4 g 20.4| 15.6 26.6| 7.56
5 & 20.0f 17.0 12.2| 7.56
6 [55] 13.0| 15.5 7.3 1.61
7 i 19.0] 15.4 7.9] 17.60 45.2| 60.5 132 5.4/ 0.12| <0.02
8 g 19.0| 16.4 16.5| 7.56
9 i 20.0| 16.2 9.4/ 7.65
10 = 19.0 16.2 6.5| 7.58
11 i 20.0 16.7 12.3| 7.60
12 g 17.0| 16.5 7.9 7.58
13 & 20.0f 17.0 6.9 7.52
14 g 20.0 18.0 7.2 1.54
15 & 22.0/ 18.1 6.9 7.54
16 g 23.0/ 18.3 5.4/ 7.60
17 [55] 18.0| 17.3 4.8/ 7.64
18 = 21.2| 16.8 27.8| 7.56
19 £ 21.5] 17.3 63.3| 7.46 40.4| 50.4 175 4.2 0.59 <0.02
20 = 22.0 17.8 22.0/ 7.51
21 £ 24.0/ 18.9 11.1]  7.53
22 = 22.0 18.9 7.1 7.59
23 £ 21.2| 19.0 6.4 7.56
24 g 22.0/ 18.2 51 1.7
25 £ 20.0f 17.0 8.4/ 17.62
26 = 20.0| 17.4] 205.8| 7.52
217 £ 21.0| 16.6 34.8| 7.56
28 g 21.0/ 16.6 16.2| 7.58
29 £ 22.5| 18.1 11.3] 7.58
30 = 21.0 16.9 10.4| 7.57
31 i 20.6| 16.4 9.7| 17.62
Ty 20.2 | 17.0 19.7 | 7.59 42.8 | 55.5 154 48| 0.35 | <0.02
3= 24.0 | 19.0 | 205.8 | 7.M 45.2 | 60.5 175 5.4 | 0.59 | <0.02
=K 13.0 | 15.4 4.8 | 7.46 40.4 | 50.4 132 4.2 | 0.12 | <0.02




THIESA S

SLEATERAKE (REALE)

KEAHBERBEE (E/)

FRoKEFRE 9:00

KERABRER (BRfKSE Kt GRK) )
B Xig SR |KE|A E| pH |TILAY| BE | ®F |EEY| & 8% i &
i 3 BB A1 Y
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 & 19.5 16.0 1.1 7.43

2 = 16.2 16.0 1.3 7.45

3 & 19.0 16.2 1.1 7.50

4 g 20. 4 15.3 1.2 7.43

5 & 20.0 15.9 1.2 1.4

6 [55] 13.0 15.5 1.0| 7.40

7 i 19.0 16.5 0.9 7.43 43.2| 65.8 127 5.7 0.02| <0.02
8 i 19.0 15.6 1.2 17.37

9 i 20.0 15.8 1.0 7.29

10 = 19.0 16.2 0.8/ 7.28

11 i 20.0 15.9 1.2 7.23

12 i 17.0 16.0 1.2 7.28

13 & 20.0 16.9 1.1 1.2

14 i 20.0 16.7 1.0 7.32

15 & 22.0 17.7 0.8/ 7.20

16 i 23.0 17.8 1.0 7.34

17 [55] 18.0 17.3 1.0 7.33

18 = 21.2 17.7 0.8/ 7.40

19 £ 21.5 17.5 1.1 7.23 36.8/ 51.5 113 8.2 0.03] <0.02
20 = 22.0 17.8 0.7 7.34

21 £ 24.0 17.8 1.2 7.23

22 = 22.0 18.7 1.0 7.34

23 £ 21.2 18.5 0.9 7.43

24 g 22.0 18.4 0.8 7.41

25 £ 20.0 18.0 0.7 1.4

26 = 20.0 17.8 1.2 71.31

217 £ 21.0 17.5 2.1 17.23

28 g 21.0 17.2 1.1 7.28

29 £ 22.5 17.2 1.3 71.31

30 = 21.0 17.4 1.3] 7.20

31 i 20.6 17.4 1.1 7.26
Ty 20.2 | 17.0 1.1 7.33 40.0 | 58.7 120 7.0 | 0.02 | <0.02
3= 24.0 | 18.7 2.1 | 7.50 43.2 | 65.8 127 8.2 | 0.03| <0.02
=K 13.0 | 15.3 0.7 7.20 36.8 | 51.5 113 5.7 ] 0.02 | <0.02




